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= 3,600
—3JIEE Hd sIt Mell=
50,0008 *23| 36 3,600
= 3,600
NS Sals) =8 238 X2 10,000 10,000 0
= 4,000
Ea 6,000
101 @1A4H| 10,000 10,000 0
= 4,000
s 6,000
04 JIZtN2Z2XNSE= 10,000 10,000 0
OXI%Es =s)I=3E 0/Bst 10,000
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= 3,210
= 4,814
-5+ 80,2402 14! 1,124
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o 674
—=28= 852,000& 852
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HER 2 4,920 8,412 N3,492
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O=sgol 54 4 24 0l
20,0002 2 =124 S =4 1,920
sgel A Ws 31,000 30,000 1,000
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SN SEXAD
g psidsI|=xd
el ZUE A0EY =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 35,456 35,456
M ORINZZE2NSES 35,456 35,456
O2UHEANEY 2 AL 2 35,456
—Jl2= 120,000 * 12 +207 L 24,840
-5+ 120,000 * 1 »43& 5,160
— ¢ x==g 120,000& x 12 =10 1,200
—SEFOHI 200,000& *12] 200
—4HEE= 4,0%
201 er=23y| 29,872 29,872
01 AtR2t2|HI 16,872 16,872
OANIEBEE YR =M 2,592
—A0IEH2E sl
9,000 3 +8L 120 & 2,592
OANEE XNZdH 228 FY
200,000 * 122 2,400
O=AD| gits 400,000 1004 & 4,000
OADIEE XtE=E
100,000 *3& *63] 1,800
OAZAIE 72 300,000 80 & 2,400
(OFSPRFSELEN ko 200,000 <84 2 1,600
ORQUBHIAIAE 0l
200,000 +8H & 1,600
O&=J| SX= 60,0002 8 & 480
2 352484l 13,000 13,000
OANEBXNHEE 332
1,000,000 8043 8,000
OANIEERXIRHE 72/l
5,000,000 * 10 2= 5,000
202 04| 2,880 2,880
01 =LHOLI 2,880 2,880
OAlIEE=2Y g2 =d
20,0002 «3 12 x4 2,880
KNESBUE ANEY =2Y 485,032 485,032
201 Ler23| 138,832 138,832
01 At2teltl 94,020 94,020
Oglg ANEE ZEEI =& 21,000
OSFHIAAE(LPG) HIIBA =2
300,000 304 A 900
OSY33AL =22 1,500,0002 %12 1,500
OXJItH e X} &AFEA
6,710,000& 100 & 67,100
ORoIBHIES
110,000& #4JH A= +8H 3,520
02 s3=gbl 24,812 24,812
OAlIZ8ZHl |XId| 5,000,000& 3= 15,000
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FA sEXE D
g psidsI|=xd
Hel ZUE ANEY 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsJIH 28 481,200,000 * 1% 4,812
OZdAE= RAl2el
2,500,000 *2H 5,000
03 &A= 20,000 0 20,000
OXGSaLUHEANEE =54
20,000,000& *13] 20,000
405 AHaHE S 346,200 0 346,200
01 AL =S F=HI 346,200 0 346,200
O2LUEANER I 7 346,200
— KIAHIRE 45,000,000 *3CH 135,000
—dLeIZENMSR
7,000,000 24CH 168,000
—S=2HI 4,500,000 ~8CH 36,000
— =t 300, 0003 *24CH 7,200
S22 YUY +553 29 3,450 0 33,480
201 fer23| 28,080 0 28,080
01 AtR2t2|HI 7,620 0 7,620
ORoIBHIES 110,000 x 1204 2 1,320
OZ&EEI =8 6,300
2 S52g4l 5,430 0 5,430
OsJIHEER 63,000,000 * 1% 630
Ooglg+Asd s32=
400,000 1200 & 4,800
03 A= I 15,000 0 15,000
0SS YUESRST 24
15,000,000 x12] 15,000
405 KHaHE SH 5,400 0 5,400
01 AL =S F=H| 5,400 0 5,400
O+Esy 292E 7Y 5,400
— NS SHSE(HY, oAT)
600, 0002 *3SET 1,800
—3o/d 2HES(HY, 2
1,800,000 x2SET 3,600
A0IEY X4 6,589,848 10,588,756 A3,998,908
= 1,372,000
= 3,416,400
o 1,801,448
A0IEY d HRXE 4,848 3,7% 1,002
201 fer=3| 2,928 1,836 1,002
01 AtR2te|Hl 2,928 1,836 1,002
OSHEANEY R 4|
9,000 x2S * 12«8 1,728
OSUHEANEY HRFH ARES 78
300,000 *43] 1,200

- 727 -




FA sEXE D
g pstdsI|=xd
oels ADIEE X4 EER=E)
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202 04l 1,920 1,920
01 2LHoIH 1,920 1,920
O2UHEANEBEE HRFN (Y]
20,0003 x2S+ 12 x4 1,920
U=l ®7Xl S AO0EE A AL 1,385,000 430,000 955,000
401 Al HIZ S OHbI 1,385,000 430,000 955,000
01 AlZ2H| 1,385,000 410,000 975,000
O3d=gel =X S0 ANEY =4 1,385,000
HASO 2 AU ADEE HEAML(SRHLEA 3,240,000 5,920,000 22,680,000
2)
S 3,240,000
403 AXIEHHSAH=201d 3,240,000 5,500,000 A2,260,000
== 3,240,000
02 SO 2SO et = & 2 EF A I 3,240,000 5,500,000 A2,260,000
OFd=sgel RXI &0 L0tE® 28 3,240,000
= 3,240,000
NEtAUUX SS0IEAE X&MLY 1,960,000 1,960,000 0
= 1,372,000
== 176,400
o 411,600
403 AXIEHHSA=201H 1,960,000 1,960,000 0
= 1,372,000
= 176,400
o 411,600
02 SVI2S0 U H=E P EAIEI 1,960,000 1,960,000 0
O'24~' BB AU X SSOIZAIE XA 1,960,000
= 1,372,000
= 176,400
Ea 411,600
SIAANE S 29 3,142,212 1,459,508 1,682,704
= 713,440
= 156,324
Ea 2,272,448
st XEE SIIH NZAE 500,000 300,000 200,000
402 2IZtA=01d 500,000 300,000 200,000
01 QI XHZ AL E R (K THE) 500,000 300,000 200,000
OsIt XEE sIIH XA 500,000
-4 4,000,000 »101CH*50% 202,000
-8 9,000, 0002 ~44CH*50f% 198,000
—ue 20,000,000 *10CH*50% 100,000
SIIH SHA 795,672 562,688 232,984
101 @1A4H| 80,875 97,837 A16,962
04 JIZtNZ22 XS 2+ 80,875 97,837 16,962

- 728 -




FA sEXE D
T Yet=I|S T
Rl SIIAHAEE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsJIH SUAE sIIH =2l2X 80,875
—Jlz= 80,2403 x4 Hx174 55,848
—F5=4 80,2403 x4 »34 10,913
— ¢ x==g 80,2402 x4 H 7 2,247
—gUzRsg 120,360 4 & *8 3,852
—gEs 8,015
201 eer23y| 235,149 240,819 N\5,670
01 AtR2te|HI 25,276 26,212 A936
OsJIH 292 E48+g
70,0002 7 H =23 980
OEEusH X (M)
2,500,000 x2H 5,000
OS24t 24|
9,000 84123 3,45
OsIIH UM EE2=S HH
1,000& *1,0008+25 2,000
OsIIH SUAKE =4
170,000& x19E <25 6,460
SIIH LAY ARE (&L S) 1,000
OsIIH UM AMEItE =&
100,000& * 122 1,200
O=EsJH 2HEI =28 1,500
O0ld 22X Z8EI === 1,000
OsSIIHSUAEE 22u=s & 28Z2T)
o 2,000
OSJIH SUAMY SIIAH el2x 1= 1
=t 170,000& x4 *15 680
02 S52g4l 209,873 214,607 AV KT
oY= 28= 95,000 »970CH 92,180
Oxtgr= =l 1,530 x100L*14CH* 123 25,704
Oxtgs Xl 2eld| 1,000,000 * 14CH 14,000
OXRgUA=sIIH 7=l
1,530& »250L+8CH = 10 30,600
O2U=s21H =Xl 40,0002 *970CH 38,800
O A HY g RFU
1,330 %900L*79H 2 8,379
Ot g 20,0002+ 122 240
202 04| 11,040 11,040
01 =LHOHI 11,040 11,040
OSIIAH UMY R
20,0002 x8Hx4L « 12 7,680
OdlisIIA e & HAid g2 24
1] 20,0003 x 14«12+ 122 3,360
206 MH=H| 174,000 204,000 30,000
01 M=4l 174,000 204,000 /30,000
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15,000,000 *7H A 105,000
OXUE S ZHI8 25 7Y
20,000,000& * 10 2~ 20,000
OJIEt 2942 2
7,000,000 & *7IH 2~ 49,000
307 21Z2t0| ™ 6,000 6,000
02 QIZFBAMAIIE X 6,000 6,000
OsI|H 2N HEF S K&
300,000 x40 *50% 6,000
401 A& HIL L2 CHH] 180,000 180,000
01 Al&H| 180,000 180,000
OLLASIHLHAIE A Ol & 180,000
—EX0HY ¢ AMECE S 2X & 180,000
405 KHAHFSHI 108,608 2,992 105,616
01 AL 2 EF S| 108,608 2,992 105,616
OsI|H LUAI A OlsAl HED| Rel
1,536,820 x7H A& 10,758
O=I1H AUAIYA =% 12 UH 72 97,850
—0iE 2SI e Xt 7
97,850,000& *1CH 97,850
SI|H SAte 24 9,250 9,250
206 =8| 9,250 9,250
01 HZHI 9,250 9,250
OsJIH =3 |zsns ABREE 32
25,000 *115+200H 5,500
OsJIH =3D|lsny 23
125,000 *300H 3,750
SSI|AH o= K& 7,200 8,400 A1,200
= 3,600
= 1,080
o 2,520
206 =8| 6,240 7,280 A 1,040
= 3,120
& 936
= 2,184
01 THZHI 6,240 7,280 A 1,040
OsgIH ot N=E ME
52,0002 %1204 6,240
= 3,120
& 936
= 2,184
301 LEtEX 2 960 1,120 A 160
= 480
& 144
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01 ML ESFSHI 1,100,000 0 1,100,000
O0r=t JHet R+2E FEAIY
1,100,000,000& 1,100,000
= 550,000
[Ea 550,000
HH2IBJH(sEXNEL) 112,786 98,970 13,816
=38l 112,786 98,970 13,816
J1=23H] 112,786 98,970 13,816
201 er=2 3| 41,398 29,130 12,268
01 AtR2te|HI 25,918 13,650 12,268
OARE 28 18,618
—SAPD| SU=
380, 0003 x2CH* 1270 2 «90% 8,208
—t=2 A= 300,000 * 122 *90% 3,240
—AIRES 28 200,000 * 122 *90f% 2,160
—TA 7Y 80,000& * 122 960
—SAEX 7Y
25,0002 152 Ax 122 x00% 4,050
OM82F A 20,0002 3652 7,300
02 S3=gl 15,480 15,480 0
OARd 28 3,780
—AIRY NHaes
50,0003 *7IH 2% 122 x90% 3,780
Oslsd A2t 2EXE NHSAHEE
650,000 *20CH*90% 11,700
202 04t 15,000 13,200 1,800
01 =LHOHI 4,200 4,200 0
SAE2E U
20,0002 x25EH x 122 x7(f% 4,200
02 XN 10,800 9,000 1,800
SO SSOIMEIAT FoHOIY)
150,000 6 * 1200 = 10,800
203 HR=H] 11,388 11,640 N252
01 J|2=2gegR=a] 3,700 3,700 0
OJ|2=gge=a] 3,700
02 3t RS &| 2,720 2,720 0
OZEIRIER=8H] 2,720
M FA2SHIFII 4,968 5,220 N252
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M A=FESS 45,000 45,000
04 SR (RIH 22N BE=RES S 45,000 45,000
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